


“Uma	
  tamanho	
  de	
  sapato	
  não	
  serve	
  para	
  todos”	
  





Velocidade	
  de	
  Encurtamento	
  
§  Entre	
  outros	
  fatores	
  
§  Número	
  de	
  sarcômeros	
  em	
  série	
  
§  Velocidade	
  intrínseca	
  de	
  cada	
  sarcômero	
  

ú  Depende	
  dos	
  Tipos	
  de	
  Isoformas	
  de	
  MyCH	
  
ú  MyCH	
  I	
  
ú  MyCH	
  IIA	
  
ú  MyCH	
  IIX	
  
ú  MyCH	
  IIB	
  (pequenos	
  animais	
  apenas)	
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Adaptados	
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RELAÇÕES	
  FORÇA-­‐VELOCIDADE	
  E	
  POTÊNCIA-­‐VELOCIDADE	
  
EM	
  FIBRA	
  MUSCULAR	
  HUMANA	
  ISOLADA	
  (MVL)	
  

	
  
Po	
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tensão	
  
isométrica	
  Maior	
  Velocidade	
  

Encurtamento	
  



Outras	
  Possibilidades	
  



DETERMINAÇÃO	
  DAS	
  CARGAS	
  DE	
  TREINO	
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DETERMINAÇÃO	
  DA	
  POTÊNCIA	
  DE	
  TREINO	
  
-­‐LEG	
  PRESS	
  HORIZONTAL-­‐	
  	
  

POTÊNCIA	
  MÉDIA	
  



DETERMINAÇÃO	
  DA	
  POTÊNCIA	
  DE	
  TREINO	
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TREINAMENTO	
  COM	
  CONTROLE	
  DE	
  POTÊNCIA	
  
Po

tê
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  (w
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ts
)	
  

1	
  RM	
  =	
  260	
  kg	
  
CT	
  =	
  155	
  kg	
  (≈	
  60%	
  de	
  1	
  RM)	
  



DETERMINAÇÃO	
  DA	
  POTÊNCIA	
  DE	
  TREINO	
  

POTÊNCIA	
  MÉDIA	
  



DETERMINAÇÃO	
  DA	
  POTÊNCIA	
  DE	
  TREINO	
  



Repetições	
  

TREINAMENTO	
  COM	
  CONTROLE	
  DE	
  POTÊNCIA	
  
Po

tê
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  (w
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1	
  RM	
  =	
  250	
  kg	
  
CT	
  =	
  150	
  kg	
  (≈	
  60%	
  de	
  1	
  RM)	
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Será 
Possível? 



-­‐	
  SUPINO	
  -­‐	
  

y	
  =	
  -­‐0,0925x2	
  +	
  10,561x	
  -­‐	
  36,357	
  
R²	
  =	
  0,91419	
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Importante 



Considerar	
  ...	
  

• 	
  Determinar	
  gesto	
  motor	
  
	
  	
  	
  especifico	
  
• 	
  Complexidade	
  do	
  exercício	
  
• 	
  Duração	
  da	
  atividade	
  
• 	
  Grupo	
  muscular	
  envolvido	
  
• 	
  Nível	
  de	
  experiência	
  



• 	
  Número	
  de	
  repetições	
  na	
  
• 	
  Carga	
  alvo	
  
• 	
  Velocidade	
  alvo	
  
• 	
  Ou	
  seja	
  carga	
  @	
  velocidade	
  

• 	
  Intervalos	
  de	
  descanso	
  
• 	
  Número	
  de	
  séries	
  ...	
  

É	
  Necessário	
  Determinar	
  



Importante	
  -­‐	
  Considerar	
  

• 	
  Preparação	
  para	
  o	
  movimento	
  
• 	
  Familiarização	
  para	
  o	
  teste	
  
• 	
  Várias	
  tentativas	
  
• 	
  %	
  Diferentes	
  para	
  sexo,	
  grupo	
  
muscular,	
  habilidade,	
  
complexidade	
  etc.	
  


